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%%% Example Matlab Code for P3.1
Cloie_a!'f clear; B_s = (1+0.09*s)/(10+0.09*s);
;’)_};mglif?ér ACS) (Is the only difference)
A s = le6/(1+s);
% This is an example Beta B(s),
substitute for other B(s)
B s = 0.1*s/s;
% Vout/Vin = A(s)/(1+B(s)*A(s))
vout_vin = A _s/(1+B_s*A_s);
% Plot A(s), 1/B(s), and Vout/Vin
figure;
bode(A_s,"g:",1/B s,"r-",vout_vin,"b.");
title("Part A%);
legend("A(s) ", "1/B(s)","Av");
grid on;
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(Is the only difference)
B s = (1+0.01*s)/(1+0.1*s);
(Is the only difference)

B s = (0.01*s)/((0.0001*s"2) + (0.01*s) + 1);
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